Miss Hughes group — Bronze reasoning and problem solving

1a. Emma and Tom have saved some
money.

Emma’s money Tom’s money
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How much more money does Emma
have than Tom? Explain how you know.
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1b. Kim and Dan have saved some
money.

Dan’s money Kim’s money
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How much more money does Kim have
than Dan? Explain how you know.
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2a. Gracie says,

| have £1 and 50p and |
spend £1 and 30p on a
drink. This means | will have
30p left.

2b. Harold says,

| have £3 and 70p and |
spend £2 and 30p on a
book. This means | will have
£1 and 50p left.
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Explain the mistake Gracie has made.

Explain the mistake Harold has made.
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3a. Find possible values of the hidden
digits. Complete the subtraction, without
exchanges, using all of the cards below.
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3b. Find possible values of the hidden
digits. Complete the subtraction, without
exchanges, using all of the cards below.
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